	<u>Project</u> BID NO: 003-2017 - 2017 ROAD IMPROV	1		2			
	(SHEET 1 OF 9)			Contractor Name		Contractor Name	
	(811221 1 01 7)			Ischia Corp.		S. Brothers Inc.	
				Street Address		Street Address	
				543 West M	It. Pleasant Ave.	P.O.	Box 317
				City	State/Zip	City	State/Zip
				Livingsto	on, NJ 07039	South Riv	ver, NJ 08882
- · · · ·				Ü	,		·
Item #	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount
1	M. C. C. C.	1 1 1	ASE BID	¢10,000,00	¢10,000,00	¢21 000 00	¢21 000 00
2	Maintenance and Protection of Traffic	1	LS ALLOW.	\$10,000.00	\$10,000.00 \$7,500.00	\$21,000.00 \$7,500.00	\$21,000.00 \$7,500.00
3	Fuel Price Adjustment	1	ALLOW.	\$7,500.00 \$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
4	Asphalt Price Adjustment Clearing Site	1	LS	\$156,000.00	\$15,000.00	\$228,000.00	\$228,000.00
5	Excavation, Unclassified	2,650	CY	\$0.01	\$26.50	\$0.01	\$26.50
6	Excavation, Cherassined Excavation, Test Pits (If and Where Directed)	5	UNIT	\$0.01	\$0.05	\$0.01	\$0.05
	Dense Graded Aggregate Base Course, Variable						
7	Thickness	1,350	CY	\$0.01	\$13.50	\$0.01	\$13.50
8	Milling, Less than 3"	2,200	SY	\$3.00	\$6,600.00	\$3.00	\$6,600.00
9	Milling, More than 3", Less than 6"	25,300	SY	\$4.00	\$101,200.00	\$3.00	\$75,900.00
10	Hot Mix Asphalt Surface Course Mix I-5	3,550	TNS	\$73.50	\$260,925.00	\$79.00	\$280,450.00
11	Hot Mix Asphalt Base Course Mix I-2	4,250	TNS	\$72.00	\$306,000.00	\$78.00	\$331,500.00
12	8" PVC Pipe, Schedule 40	6,100	LF	\$24.00	\$146,400.00	\$38.00	\$231,800.00
13	Roof Leader and Drain Connection to 8" PVC Pipe	125	UNIT	\$100.00	\$12,500.00	\$38.00	\$4,750.00
14	Under Drain	750	LF	\$0.01	\$7.50	\$3.00	\$2,250.00
15	12" Reinforced Concrete Pipe, Class III	250	LF	\$60.00	\$15,000.00	\$75.00	\$18,750.00
16	12" Reinforced Concrete Pipe, Class V	60	LF	\$60.00	\$3,600.00	\$75.00	\$4,500.00
17	24" Reinforced Concrete Pipe, Class III	4	LF	\$60.00	\$240.00	\$150.00	\$600.00
18	Inlet, Type B (If and Where Directed)	7	UNIT	\$2,500.00	\$17,500.00	\$3,200.00	\$22,400.00
19	Bicycle Safe Grate	55 5.5	UNIT	\$300.00	\$16,500.00	\$300.00	\$16,500.00
20	Curb Piece, Type N-Eco	55	UNIT	\$300.00	\$16,500.00	\$300.00	\$16,500.00
21 22	Reconstructed Inlet, Type B, Using New Casting Reconstructed Manhole, Using New Casting	30	UNIT UNIT	\$0.01 \$1,000.00	\$0.30 \$1,000.00	\$400.00 \$400.00	\$12,000.00 \$400.00
23	Yard Drain (If and Where Directed)	1	UNIT	\$500.00	\$500.00	\$100.00	\$100.00
24	Storm Manhole	1	UNIT	\$2,100.00	\$2,100.00	\$5,000.00	\$5,000.00
25	Hot Mix Asphalt Driveway, 2" Thick	1,980	SY	\$0.01	\$19.80	\$0.01	\$19.80
26	Driveway Restoration, Concrete Block	270	SY	\$100.00	\$27,000.00	\$0.01	\$2.70
27	Concrete Driveway, Reinforced, 6" Thick	160	SY	\$60.00	\$9,600.00	\$60.00	\$9,600.00
28	Concrete Sidewalk, 4" Thick	400	SY	\$50.00	\$20,000.00	\$75.00	\$30,000.00
29	Hot Mix Asphalt Sidewalk, 4" Thick (As Needed for Restoration)	150	SY	\$16.00	\$2,400.00	\$30.00	\$4,500.00
30	Detectable Warning Surface	175	SF	\$15.00	\$2,625.00	\$16.00	\$2,800.00
31	Granite Block Curb	16,600	LF	\$26.00	\$431,600.00	\$18.00	\$298,800.00
32	Concrete Curb (Full Face and Depressed at ADA Curb Ramps)	250	LF	\$26.00	\$6,500.00	\$28.00	\$7,000.00
33	Steel Root Plate (If and Where Directed)	10	LF	\$10.00	\$100.00	\$1.00	\$10.00
34	Traffic Stripes, Long Life, Thermoplastic, 4" Width	250	LF	\$3.00	\$750.00	\$1.00	\$250.00
35	Traffic Stripes, Long Life, Thermoplastic, 6" Width	1,250	LF	\$3.00	\$3,750.00	\$2.00	\$2,500.00
36	Traffic Stripes, Long Life, Thermoplastic, 12" Width	100	LF	\$7.00	\$700.00	\$4.00	\$400.00
37	Traffic Markings, Thermoplastic	500	SF	\$7.00	\$3,500.00	\$6.00	\$3,000.00
38	Removal of Traffic Stripes	70	LF	\$0.01	\$0.70	\$3.00	\$210.00
39	Removal of Traffic Markings	90	SF	\$0.01	\$0.90	\$6.00	\$540.00
40	Sign	20	UNIT	\$200.00	\$4,000.00	\$150.00	\$3,000.00
41	Topsoiling, 4" Thick	14,580	SY	\$0.01	\$145.80	\$0.01	\$145.80
42	Fertilizing and Seeding, Type "1"	14,580	SY	\$0.01	\$145.80	\$0.01	\$145.80
	Total	<u> </u>			\$1,607,950.85		\$1,664,464.15

I hereby certify that this is a true copy of the b	ids received on .	(1	Engineer)

	<u>Project</u>						
	BID NO: 003-2017 - 2017 ROAD IMPROV	1 2 Contractor Name Contracto					
	(SHEET 2 OF 9)			Contr	actor Name	Contractor Name S. Brothers Inc.	
				Isch	ia Corp.		
				Stree	et Address	Stree	et Address
				543 West M	It. Pleasant Ave.	P.O.	Box 317
				City	State/Zip	City	State/Zip
				-	on, NJ 07039	·	ver, NJ 08882
Item#	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount
	ALTERNATE N	UMBER ON	NE - SURRE	Y LANE BID I	PRICES		
1	Maintenance and Protection of Traffic	1	LS	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00
2	Fuel Price Adjustment	1	ALLOW.	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
3	Asphalt Price Adjustment	1	ALLOW.	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4	Clearing Site	1	LS	\$75,500.00	\$75,500.00	\$68,000.00	\$68,000.00
5	Excavation, Unclassified	800	CY	\$0.01	\$8.00	\$0.01	\$8.00
6	Dense Graded Aggregate Base Course, Variable Thickness	400	CY	\$0.01	\$4.00	\$0.01	\$4.00
7	Milling, More than 3", Less than 6"	9,700	SY	\$4.00	\$38,800.00	\$3.00	\$29,100.00
8	Hot Mix Asphalt Surface Course Mix I-5	1,250	TNS	\$75.00	\$93,750.00	\$79.00	\$98,750.00
9	Hot Mix Asphalt Base Course Mix I-2	1,550	TNS	\$74.00	\$114,700.00	\$78.00	\$120,900.00
10	8" PVC Pipe, Schedule 40	1,150	LF	\$24.00	\$27,600.00	\$38.00	\$43,700.00
11	Roof Leader and Drain Connection to 8" PVC Pipe	25	UNIT	\$100.00	\$2,500.00	\$38.00	\$950.00
12	Under Drain	250	LF	\$0.01	\$2.50	\$3.00	\$750.00
13	Bicycle Safe Grate	20	UNIT	\$300.00	\$6,000.00	\$300.00	\$6,000.00
14	Curb Piece, Type N-Eco	20	UNIT	\$300.00	\$6,000.00	\$300.00	\$6,000.00
15	Reconstructed Inlet, Type B, Using New Casting	10	UNIT	\$0.01	\$0.10	\$400.00	\$4,000.00
16	Reconstructed Manhole, Using New Casting	1	UNIT	\$1,000.00	\$1,000.00	\$400.00	\$400.00
17	Yard Drain (If and Where Directed)	1	UNIT	\$500.00	\$500.00	\$100.00	\$100.00
18	Hot Mix Asphalt Driveway, 2" Thick	720	SY	\$0.01	\$7.20	\$0.01	\$7.20
19	Driveway Restoration, Concrete Block	80	SY	\$100.00	\$8,000.00	\$0.01	\$0.80
20	Concrete Sidewalk, 4" Thick	50	SY	\$50.00	\$2,500.00	\$75.00	\$3,750.00
21	Hot Mix Asphalt Sidewalk, 4" Thick (As Needed for Restoration)	25	SY	\$16.00	\$400.00	\$30.00	\$750.00
22	Detectable Warning Surface	40	SF	\$15.00	\$600.00	\$27.00	\$1.080.00
23	Granite Block Curb	5,750	LF	\$26.00	\$149,500.00	\$18.00	\$103,500.00
24	Concrete Curb (Full Face and Depressed at ADA Curb Ramps)	50	LF	\$26.00	\$1,300.00	\$28.00	\$1,400.00
25	Traffic Stripes, Long Life, Thermoplastic, 6" Width	400	LF	\$3.00	\$1,200.00	\$2.00	\$800.00
26	Sign	6	UNIT	\$200.00	\$1,200.00	\$150.00	\$900.00
27	Topsoiling, 4" Thick	5,120	SY	\$0.01	\$51.20	\$0.01	\$51.20
28	Fertilizing and Seeding, Type "1"	5,120	SY	\$0.01	\$51.20	\$0.01	\$51.20
20	Total	3,120		Ψ0.01	\$541,674.20		\$502,452.40

	<u>Project</u> BID NO: 003-2017 - 2017 ROAD IMPROV	EMENTS	,		2			
	(SHEET 3 OF 9)			Contr	actor Name	Contr	Contractor Name S. Brothers Inc. Street Address P.O. Box 317 City State/Zip South River, NJ 08882 nit Price Amount CES 2,000.00 \$2,000.00 2,000.00 \$2,000.00 3,500.00 \$3,500.00 2,800.00 \$52,800.00 \$0.01 \$5.25 \$0.01 \$2.70 \$4.00 \$25,600.00 \$80.00 \$64,000.00 \$80.00 \$80,000.00 \$38.00 \$64,000.00 \$38.00 \$76,000.00 \$38.00 \$1,520.00 \$300.00 \$4,500.00 \$300.00 \$4,500.00 \$400.00 \$3,200.00 \$0.01 \$8.40 \$0.01 \$0.80	
	,			Isch	ia Corp.	S. Brothers Inc.		
				Stree	et Address	Stree	et Address	
				543 West M	It. Pleasant Ave.	P.O.	Box 317	
				City	State/Zip	City	State/Zip	
				Livinosto	on, NJ 07039	South Riv	ver NI 08882	
			_	Ū	<u>'</u>		,	
Item #	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount	
	ALTERNATE NUMBER TWO -DO	GWOOD TI						
1	Maintenance and Protection of Traffic	1	LS	\$2,000.00	\$2,000.00	\$2,000.00		
2	Fuel Price Adjustment	1	ALLOW.	\$2,000.00	\$2,000.00	\$2,000.00	. ,	
3	Asphalt Price Adjustment	1	ALLOW.	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	
4	Clearing Site	1	LS	\$60,000.00	\$60,000.00	\$52,800.00	, - ,	
5	Excavation, Unclassified	525	CY	\$0.01	\$5.25	\$0.01	\$5.25	
6	Dense Graded Aggregate Base Course, Variable Thickness	270	CY	\$0.01	\$2.70	\$0.01	\$2.70	
7	Milling, More than 3", Less than 6"	6,400	SY	\$4.00	\$25,600.00	\$4.00	\$25,600.00	
8	Hot Mix Asphalt Surface Course Mix I-5	800	TNS	\$75.00	\$60,000.00	\$80.00	\$64,000.00	
9	Hot Mix Asphalt Base Course Mix I-2	1,000	TNS	\$74.00	\$74,000.00	\$80.00	\$80,000.00	
10	8" PVC Pipe, Schedule 40	2,000	LF	\$24.00	\$48,000.00	\$38.00	\$76,000.00	
11	Roof Leader and Drain Connection to 8" PVC Pipe	40	UNIT	\$100.00	\$4,000.00	\$38.00	\$1,520.00	
12	Bicycle Safe Grate	15	UNIT	\$300.00	\$4,500.00	\$300.00	\$4,500.00	
13	Curb Piece, Type N-Eco	15	UNIT	\$300.00	\$4,500.00	\$300.00	\$4,500.00	
14	Reconstructed Inlet, Type B, Using New Casting	8	UNIT	\$0.01	\$0.08	\$400.00	\$3,200.00	
15	Hot Mix Asphalt Driveway, 2" Thick	840	SY	\$0.01	\$8.40	\$0.01	\$8.40	
16	Driveway Restoration, Concrete Block	80	SY	\$100.00	\$8,000.00	\$0.01	\$0.80	
17	Concrete Driveway, Reinforced, 6" Thick	25	SY	\$60.00	\$1,500.00	\$65.00	\$1,625.00	
18	Granite Block Curb	3,800	LF	\$26.00	\$98,800.00	\$18.00	\$68,400.00	
19	Traffic Stripes, Long Life, Thermoplastic, 4" Width	100	LF	\$3.00	\$300.00	\$3.00	\$300.00	
20	Traffic Stripes, Long Life, Thermoplastic, 12" Width	40	LF	\$7.00	\$280.00	\$6.00	\$240.00	
21	Traffic Markings, Thermoplastic	150	SF	\$7.00	\$1,050.00	\$6.50	\$975.00	
22	Sign	2	UNIT	\$200.00	\$400.00	\$200.00	\$400.00	
23	Topsoiling, 4" Thick	3,360	SY	\$0.01	\$33.60	\$0.01	\$33.60	
24	Fertilizing and Seeding, Type "1"	3,360	SY	\$0.01	\$33.60	\$0.01	\$33.60	
	Total				\$398,513.63		\$391,644.35	
	Total Base Bid Plus Alternate Number One				\$2,149,625.05		\$2,166,916.55	
	Total Base Bid Plus Alternate Number Two				\$2,006,464.48		\$2,056,108.50	
	Total Base Bid Plus Alternate Numbers One and Two				\$2,548,138.68		\$2,558,560.90	

	<u>Project</u> BID NO: 003-2017 - 2017 ROAD IMPROV		3	4			
		ENTERN 18	,	Contr	actor Name	Contractor Name Midwest Construction Inc.	
	(SHEET 4 OF 9)			Cifelli &	Son General		
				Construction, Inc.			
					et Address	Stree	et Address
				4 Cop	pola Street	23 Dead	River Road
				City	State/Zip	City	State/Zip
				Nutley	, NJ 07110	Warren	, NJ 07059
		T		,			,
Item #	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount
1	M-:	T	ASE BID	¢10,000,00	¢10,000,00	¢20,000,00	¢20,000,00
2	Maintenance and Protection of Traffic Fuel Price Adjustment	1	LS ALLOW.	\$10,000.00 \$7,500.00	\$10,000.00 \$7,500.00	\$20,000.00 \$7,500.00	\$20,000.00 \$7,500.00
3	Asphalt Price Adjustment	1	ALLOW.	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
4	Clearing Site	1	LS	\$130,000.00	\$130,000.00	\$50,000.00	\$50,000.00
5	Excavation, Unclassified	2,650	CY	\$5.00	\$13,250.00	\$40.00	\$106,000.00
6	Excavation, Test Pits (If and Where Directed)	5	UNIT	\$100.00	\$500.00	\$500.00	\$2,500.00
	Dense Graded Aggregate Base Course, Variable						
7	Thickness	1,350	CY	\$5.00	\$6,750.00	\$25.00	\$33,750.00
8	Milling, Less than 3"	2,200	SY	\$3.75	\$8,250.00	\$6.00	\$13,200.00
9	Milling, More than 3", Less than 6"	25,300	SY	\$7.00	\$177,100.00	\$7.00	\$177,100.00
10	Hot Mix Asphalt Surface Course Mix I-5	3,550	TNS	\$74.00	\$262,700.00	\$75.00	\$266,250.00
11	Hot Mix Asphalt Base Course Mix I-2	4,250	TNS	\$74.00	\$314,500.00	\$75.00	\$318,750.00
12	8" PVC Pipe, Schedule 40	6,100	LF	\$16.00	\$97,600.00	\$25.00	\$152,500.00
13	Roof Leader and Drain Connection to 8" PVC Pipe	125	UNIT	\$50.00	\$6,250.00	\$300.00	\$37,500.00
14	Under Drain	750	LF	\$25.00	\$18,750.00	\$40.00	\$30,000.00
15	12" Reinforced Concrete Pipe, Class III	250	LF	\$70.00	\$17,500.00	\$75.00	\$18,750.00
16	12" Reinforced Concrete Pipe, Class V	60	LF	\$75.00	\$4,500.00	\$75.00	\$4,500.00
17	24" Reinforced Concrete Pipe, Class III	4	LF	\$200.00	\$800.00	\$100.00	\$400.00
18	Inlet, Type B (If and Where Directed)	7	UNIT	\$2,000.00	\$14,000.00	\$3,000.00	\$21,000.00
19	Bicycle Safe Grate	55	UNIT	\$225.00	\$12,375.00	\$350.00	\$19,250.00
20	Curb Piece, Type N-Eco	55	UNIT	\$675.00	\$37,125.00	\$350.00	\$19,250.00
21	Reconstructed Inlet, Type B, Using New Casting	30	UNIT	\$1,225.00	\$36,750.00	\$2,500.00	\$75,000.00
22	Reconstructed Manhole, Using New Casting	1	UNIT	\$800.00	\$800.00	\$2,500.00	\$2,500.00
23	Yard Drain (If and Where Directed)	1	UNIT	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
24	Storm Manhole	1 000	UNIT	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00
25	Hot Mix Asphalt Driveway, 2" Thick Driveway Restoration, Concrete Block	1,980	SY	\$26.00	\$51,480.00	\$35.00	\$69,300.00
26 27	,	270 160	SY SY	\$90.00	\$24,300.00	\$120.00	\$32,400.00
	Concrete Driveway, Reinforced, 6" Thick Concrete Sidewalk, 4" Thick			\$70.00 \$68.00	\$11,200.00	\$70.00 \$60.00	\$11,200.00 \$24,000.00
28	Hot Mix Asphalt Sidewalk, 4" Thick (As Needed for	400	SY		\$27,200.00	\$60.00	φ ∠4, UUU.UU
29	Restoration)	150	SY	\$45.00	\$6,750.00	\$50.00	\$7,500.00
30	Detectable Warning Surface	175	SF	\$20.00	\$3,500.00	\$25.00	\$4,375.00
31	Granite Block Curb	16,600	LF	\$26.00	\$431,600.00	\$24.00	\$398,400.00
32	Concrete Curb (Full Face and Depressed at ADA Curb Ramps)	250	LF	\$26.00	\$6,500.00	\$24.00	\$6,000.00
33	Steel Root Plate (If and Where Directed)	10	LF	\$30.00	\$300.00	\$50.00	\$500.00
34	Traffic Stripes, Long Life, Thermoplastic, 4" Width	250	LF	\$1.25	\$312.50	\$1.50	\$375.00
35	Traffic Stripes, Long Life, Thermoplastic, 6" Width	1,250	LF	\$2.10	\$2,625.00	\$2.50	\$3,125.00
36	Traffic Stripes, Long Life, Thermoplastic, 12" Width	100	LF	\$3.25	\$325.00	\$3.50	\$350.00
37	Traffic Markings, Thermoplastic	500	SF	\$6.25	\$3,125.00	\$6.50	\$3,250.00
38	Removal of Traffic Stripes	70	LF	\$2.50	\$175.00	\$2.50	\$175.00
39	Removal of Traffic Markings	90	SF	\$4.50	\$405.00	\$4.50	\$405.00
40	Sign	20	UNIT	\$450.00	\$9,000.00	\$350.00	\$7,000.00
41	Topsoiling, 4" Thick	14,580	SY	\$3.00	\$43,740.00	\$2.00	\$29,160.00
42	Fertilizing and Seeding, Type "1"	14,580	SY	\$1.50	\$21,870.00	\$2.00	\$29,160.00
	Total				\$1,840,407.50		\$2,022,875.00

I hereby certify that this is a true copy of the b	ids received on .	(1	Engineer)

	<u>Project</u>						
	BID NO: 003-2017 - 2017 ROAD IMPROV		3	4			
	(SHEET 5 OF 9)			Contractor Name Cifelli & Son General Construcion		Contractor Name	
	,			Cifelli & Son C	Jeneral Construction Inc.	Midwest C	onstruction Inc.
				Stree	et Address	Stre	et Address
				4 Con	pola Street	23 Dead	l River Road
					-		
				City	State/Zip	City	State/Zip
				Nutley	, NJ 07110	Warren	, NJ 07059
Item#	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount
	ALTERNATE N	UMBER ON	VE - SURRE	EY LANE BID I	PRICES		
1	Maintenance and Protection of Traffic	1	LS	\$3,000.00	\$3,000.00	\$20,000.00	\$20,000.00
2	Fuel Price Adjustment	1	ALLOW.	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
3	Asphalt Price Adjustment	1	ALLOW.	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4	Clearing Site	1	LS	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00
5	Excavation, Unclassified	800	CY	\$5.00	\$4,000.00	\$40.00	\$32,000.00
6	Dense Graded Aggregate Base Course, Variable Thickness	400	CY	\$5.00	\$2,000.00	\$25.00	\$10,000.00
7	Milling, More than 3", Less than 6"	9,700	SY	\$7.00	\$67,900.00	\$7.00	\$67,900.00
8	Hot Mix Asphalt Surface Course Mix I-5	1,250	TNS	\$74.00	\$92,500.00	\$75.00	\$93,750.00
9	Hot Mix Asphalt Base Course Mix I-2	1,550	TNS	\$74.00	\$114,700.00	\$75.00	\$116,250.00
10	8" PVC Pipe, Schedule 40	1,150	LF	\$16.00	\$18,400.00	\$25.00	\$28,750.00
11	Roof Leader and Drain Connection to 8" PVC Pipe	25	UNIT	\$50.00	\$1,250.00	\$300.00	\$7,500.00
12	Under Drain	250	LF	\$25.00	\$6,250.00	\$40.00	\$10,000.00
13	Bicycle Safe Grate	20	UNIT	\$225.00	\$4,500.00	\$350.00	\$7,000.00
14	Curb Piece, Type N-Eco	20	UNIT	\$675.00	\$13,500.00	\$350.00	\$7,000.00
15	Reconstructed Inlet, Type B, Using New Casting	10	UNIT	\$1,225.00	\$12,250.00	\$2,500.00	\$25,000.00
16	Reconstructed Manhole, Using New Casting	1	UNIT	\$800.00	\$800.00	\$2,500.00	\$2,500.00
17	Yard Drain (If and Where Directed)	1	UNIT	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
18	Hot Mix Asphalt Driveway, 2" Thick	720	SY	\$26.00	\$18,720.00	\$35.00	\$25,200.00
19	Driveway Restoration, Concrete Block	80	SY	\$90.00	\$7,200.00	\$120.00	\$9,600.00
20	Concrete Sidewalk, 4" Thick	50	SY	\$68.00	\$3,400.00	\$60.00	\$3,000.00
21	Hot Mix Asphalt Sidewalk, 4" Thick (As Needed for Restoration)	25	SY	\$45.00	\$1,125.00	\$50.00	\$1,250.00
22	Detectable Warning Surface	40	SF	\$20.00	\$800.00	\$25.00	\$1,000.00
23	Granite Block Curb	5,750	LF	\$26.00	\$149,500.00	\$24.00	\$138,000.00
24	Concrete Curb (Full Face and Depressed at ADA Curb Ramps)	50	LF	\$26.00	\$1,300.00	\$24.00	\$1,200.00
25	Traffic Stripes, Long Life, Thermoplastic, 6" Width	400	LF	\$2.10	\$840.00	\$2.50	\$1,000.00
26	Sign	6	UNIT	\$450.00	\$2,700.00	\$350.00	\$2,100.00
27	Topsoiling, 4" Thick	5,120	SY	\$3.00	\$15,360.00	\$2.00	\$10,240.00
28	Fertilizing and Seeding, Type "1"	5,120	SY	\$1.50	\$7,680.00	\$2.00	\$10,240.00
	Total	-,120		Ţ	\$593,175.00	+=.00	\$664,980.00

	<u>Project</u>						
	BID NO: 003-2017 - 2017 ROAD IMPROV	EMENTS	}		3		4
	(SHEET 6 OF 9)				actor Name	Contra	actor Name
	, ,				Seneral Construction Inc.	Midwest C	onstruction Inc
				Stree	et Address	Stree	t Address
				4 Cop	pola Street	23 Dead	River Road
				•	State/Zip	G'4	State/Zip
				ľ	•	-	-
				Nutley	, NJ 07110	Warren	, NJ 07059
Item #	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount
	ALTERNATE NUMBER TWO -DOO	GWOOD TI	ERRACE A		E TERRACE BID	PRICES	
1	Maintenance and Protection of Traffic	1	LS	\$2,000.00	\$2,000.00	\$15,000.00	\$15,000.00
2	Fuel Price Adjustment	1	ALLOW.	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
3	Asphalt Price Adjustment	1	ALLOW.	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
4	Clearing Site	1	LS	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
5	Excavation, Unclassified	525	CY	\$5.00	\$2,625.00	\$40.00	\$21,000.00
6	Dense Graded Aggregate Base Course, Variable Thickness	270	CY	\$5.00	\$1,350.00	\$25.00	\$6,750.00
7	Milling, More than 3", Less than 6"	6,400	SY	\$7.00	\$44,800.00	\$7.00	\$44,800.00
8	Hot Mix Asphalt Surface Course Mix I-5	800	TNS	\$74.00	\$59,200.00	\$75.00	\$60,000.00
9	Hot Mix Asphalt Base Course Mix I-2	1,000	TNS	\$74.00	\$74,000.00	\$75.00	\$75,000.00
10	8" PVC Pipe, Schedule 40	2,000	LF	\$16.00	\$32,000.00	\$25.00	\$50,000.00
11	Roof Leader and Drain Connection to 8" PVC Pipe	40	UNIT	\$50.00	\$2,000.00	\$300.00	\$12,000.00
12	Bicycle Safe Grate	15	UNIT	\$225.00	\$3,375.00	\$350.00	\$5,250.00
13	Curb Piece, Type N-Eco	15	UNIT	\$675.00	\$10,125.00	\$350.00	\$5,250.00
14	Reconstructed Inlet, Type B, Using New Casting	8	UNIT	\$1,225.00	\$9,800.00	\$2,500.00	\$20,000.00
15	Hot Mix Asphalt Driveway, 2" Thick	840	SY	\$26.00	\$21,840.00	\$35.00	\$29,400.00
16	Driveway Restoration, Concrete Block	80	SY	\$90.00	\$7,200.00	\$120.00	\$9,600.00
17	Concrete Driveway, Reinforced, 6" Thick	25	SY	\$70.00	\$1,750.00	\$70.00	\$1,750.00
18	Granite Block Curb	3,800	LF	\$26.00	\$98,800.00	\$24.00	\$91,200.00
19	Traffic Stripes, Long Life, Thermoplastic, 4" Width	100	LF	\$1.25	\$125.00	\$1.50	\$150.00
20	Traffic Stripes, Long Life, Thermoplastic, 12" Width	40	LF	\$3.75	\$150.00	\$3.50	\$140.00
21	Traffic Markings, Thermoplastic	150	SF	\$6.25	\$937.50	\$6.50	\$975.00
22	Sign	2	UNIT	\$450.00	\$900.00	\$350.00	\$700.00
23	Topsoiling, 4" Thick	3,360	SY	\$3.00	\$10,080.00	\$2.00	\$6,720.00
24	Fertilizing and Seeding, Type "1"	3,360	SY	\$1.50	\$5,040.00	\$2.00	\$6,720.00
	Total				\$413,597.50		\$492,905.00
	Total Base Bid Plus Alternate Number One				\$2,433,582.50		\$2,687,855.00
	Total Base Bid Plus Alternate Number Two				\$2,254,005.00		\$2,515,780.00
	Total Base Bid Plus Alternate Numbers One and Two				\$2,847,180.00		\$3,180,760.00

	<u>Project</u> BID NO: 003-2017 - 2017 ROAD IMPROV (SHEET 7 OF 9)			5 actor Name Enterprises, LLC	6 Contractor Name D.L.S. Contracting, Inc.		
				Stree	t Address	Stre	et Address
				1316 Engl	ishtown Road	271 Highway	y 46, Suite D-205
				City	State/Zip	City	State/Zip
				Old Bridg	ge, NJ 08857	Fairfield	d, NJ 07004
Item #	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount
		BA	SE BID				
1	Maintenance and Protection of Traffic	1	LS	\$23,500.00	\$23,500.00	\$10,000.00	\$10,000.00
2	Fuel Price Adjustment	1	ALLOW.	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
3	Asphalt Price Adjustment	1	ALLOW.	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
4	Clearing Site	1	LS	\$119,000.00	\$119,000.00	\$29,529.00	\$29,529.00
5	Excavation, Unclassified	2,650	CY	\$0.01	\$26.50	\$60.00	\$159,000.00
6	Excavation, Test Pits (If and Where Directed) Dense Graded Aggregate Base Course, Variable	5	UNIT	\$500.00	\$2,500.00	\$100.00	\$500.00
7	Thickness	1,350	CY	\$0.01	\$13.50	\$30.00	\$40,500.00
8	Milling, Less than 3"	2,200	SY	\$4.00	\$8,800.00	\$6.00	\$13,200.00
9	Milling, More than 3", Less than 6"	25,300	SY	\$7.00	\$177,100.00	\$7.00	\$177,100.00
10	Hot Mix Asphalt Surface Course Mix I-5	3,550	TNS	\$76.00	\$269,800.00	\$75.00	\$266,250.00
11	Hot Mix Asphalt Base Course Mix I-2	4,250	TNS	\$75.00	\$318,750.00	\$75.00	\$318,750.00
12	8" PVC Pipe, Schedule 40	6,100	LF	\$40.00	\$244,000.00	\$56.00	\$341,600.00
13	Roof Leader and Drain Connection to 8" PVC Pipe	125	UNIT	\$300.00	\$37,500.00	\$200.00	\$25,000.00
14	Under Drain	750	LF	\$30.00	\$22,500.00	\$40.00	\$30,000.00
15	12" Reinforced Concrete Pipe, Class III	250	LF	\$70.00	\$17,500.00	\$70.00	\$17,500.00
16	12" Reinforced Concrete Pipe, Class V	60	LF	\$72.00	\$4,320.00	\$75.00	\$4,500.00
17	24" Reinforced Concrete Pipe, Class III	4	LF	\$150.00	\$600.00	\$90.00	\$360.00
18	Inlet, Type B (If and Where Directed)	7	UNIT	\$3,500.00	\$24,500.00	\$3,500.00	\$24,500.00
19	Bicycle Safe Grate	55	UNIT	\$320.00	\$17,600.00	\$300.00	\$16,500.00
20	Curb Piece, Type N-Eco	55	UNIT	\$365.00	\$20,075.00	\$300.00	\$16,500.00
21	Reconstructed Inlet, Type B, Using New Casting	30	UNIT	\$2,000.00	\$60,000.00	\$1,500.00	\$45,000.00
22	Reconstructed Manhole, Using New Casting	1	UNIT	\$3,000.00	\$3,000.00	\$900.00	\$900.00
23 24	Yard Drain (If and Where Directed) Storm Manhole	1	UNIT UNIT	\$2,000.00	\$2,000.00	\$900.00	\$900.00 \$4,500.00
25	Hot Mix Asphalt Driveway, 2" Thick	1,980	SY	\$5,300.00 \$25.00	\$5,300.00 \$49,500.00	\$4,500.00 \$30.00	\$59,400.00
	Driveway Restoration, Concrete Block	270	SY	\$115.00	\$31,050.00	\$40.00	\$10,800.00
27	Concrete Driveway, Reinforced, 6" Thick	160	SY	\$81.00	\$12,960.00	\$75.00	\$12,000.00
28	Concrete Sidewalk, 4" Thick	400	SY	\$73.00	\$29,200.00	\$72.00	\$28,800.00
29	Hot Mix Asphalt Sidewalk, 4" Thick (As Needed for Restoration)	150	SY	\$35.00	\$5,250.00	\$25.00	\$3,750.00
30	Detectable Warning Surface	175	SF	\$20.00	\$3,500.00	\$200.00	\$35,000.00
31	Granite Block Curb	16,600	LF	\$30.00	\$498,000.00	\$26.00	\$431,600.00
32	Concrete Curb (Full Face and Depressed at ADA Curb Ramps)	250	LF	\$25.00	\$6,250.00	\$30.00	\$7,500.00
33	Steel Root Plate (If and Where Directed)	10	LF	\$40.00	\$400.00	\$50.00	\$500.00
34	Traffic Stripes, Long Life, Thermoplastic, 4" Width	250	LF	\$1.00	\$250.00	\$1.40	\$350.00
35	Traffic Stripes, Long Life, Thermoplastic, 6" Width	1,250	LF	\$1.00	\$1,250.00	\$1.90	\$2,375.00
36	Traffic Stripes, Long Life, Thermoplastic, 12" Width	100	LF	\$2.50	\$250.00	\$3.80	\$380.00
37	Traffic Markings, Thermoplastic	500	SF	\$6.00	\$3,000.00	\$6.00	\$3,000.00
38	Removal of Traffic Stripes	70	LF	\$3.00	\$210.00	\$1.25	\$87.50
39	Removal of Traffic Markings	90	SF	\$5.00	\$450.00	\$3.00	\$270.00
40	Sign	20	UNIT	\$250.00	\$5,000.00	\$265.00	\$5,300.00
41	Topsoiling, 4" Thick	14,580	SY	\$4.00	\$58,320.00	\$3.00	\$43,740.00
42	Fertilizing and Seeding, Type "1"	14,580	SY	\$0.59	\$8,602.20	\$1.00	\$14,580.00
	Total				\$2,114,327.20		\$2,224,521.50

	<u>Project</u>						
	BID NO: 003-2017 - 2017 ROAD IMPROV		5	6			
	(SHEET 8 OF 9)			Contr	actor Name	Contractor Name D.L.S. Contracting, Inc.	
				Black Rock	Enterprises, LLC		
				Stree	et Address	Stree	et Address
				1316 Eng	lishtown Road	271 Highway	46, Suite D-205
				City	State/Zip	City	State/Zip
				Old Brid	ge, NJ 08857	Fairfield	i, NJ 07004
Item#	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount
	ALTERNATE N	UMBER ON	NE - SURRE	Y LANE BID I	PRICES	•	
1	Maintenance and Protection of Traffic	1	LS	\$8,500.00	\$8,500.00	\$7,500.00	\$7,500.00
2	Fuel Price Adjustment	1	ALLOW.	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
3	Asphalt Price Adjustment	1	ALLOW.	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4	Clearing Site	1	LS	\$40,000.00	\$40,000.00	\$10,000.00	\$10,000.00
5	Excavation, Unclassified	800	CY	\$0.01	\$8.00	\$60.00	\$48,000.00
6	Dense Graded Aggregate Base Course, Variable Thickness	400	CY	\$0.01	\$4.00	\$10.00	\$4,000.00
7	Milling, More than 3", Less than 6"	9,700	SY	\$7.00	\$67,900.00	\$6.00	\$58,200.00
8	Hot Mix Asphalt Surface Course Mix I-5	1,250	TNS	\$76.00	\$95,000.00	\$75.00	\$93,750.00
9	Hot Mix Asphalt Base Course Mix I-2	1,550	TNS	\$75.00	\$116,250.00	\$75.00	\$116,250.00
10	8" PVC Pipe, Schedule 40	1,150	LF	\$40.00	\$46,000,00	\$56.00	\$64,400.00
11	Roof Leader and Drain Connection to 8" PVC Pipe	25	UNIT	\$300.00	\$7,500.00	\$200.00	\$5,000.00
12	Under Drain	250	LF	\$30.00	\$7,500.00	\$40.00	\$10,000.00
13	Bicycle Safe Grate	20	UNIT	\$320.00	\$6,400.00	\$300.00	\$6,000.00
14	Curb Piece, Type N-Eco	20	UNIT	\$365.00	\$7,300.00	\$300.00	\$6,000.00
15	Reconstructed Inlet, Type B, Using New Casting	10	UNIT	\$2,000.00	\$20,000.00	\$1,500.00	\$15,000.00
16	Reconstructed Manhole, Using New Casting	1	UNIT	\$3,000.00	\$3,000.00	\$900.00	\$900.00
17	Yard Drain (If and Where Directed)	1	UNIT	\$2,000.00	\$2,000.00	\$900.00	\$900.00
18	Hot Mix Asphalt Driveway, 2" Thick	720	SY	\$25.00	\$18,000.00	\$25.00	\$18,000.00
19	Driveway Restoration, Concrete Block	80	SY	\$115.00	\$9,200.00	\$40.00	\$3,200.00
20	Concrete Sidewalk, 4" Thick	50	SY	\$73.00	\$3,650.00	\$75.00	\$3,750.00
21	Hot Mix Asphalt Sidewalk, 4" Thick (As Needed for Restoration)	25	SY	\$35.00	\$875.00	\$25.00	\$625.00
22	Detectable Warning Surface	40	SF	\$20.00	\$800.00	\$200.00	\$8,000.00
23	Granite Block Curb	5,750	LF	\$30.00	\$172,500.00	\$26.00	\$149,500.00
24	Concrete Curb (Full Face and Depressed at ADA Curb Ramps)	50	LF	\$25.00	\$1,250.00	\$30.00	\$1,500.00
25	Traffic Stripes, Long Life, Thermoplastic, 6" Width	400	LF	\$1.00	\$400.00	\$2.00	\$800.00
26	Sign	6	UNIT	\$250.00	\$1,500.00	\$265.00	\$1,590.00
27	Topsoiling, 4" Thick	5,120	SY	\$4.00	\$20,480.00	\$3.00	\$15,360.00
28	Fertilizing and Seeding, Type "1"	5,120	SY	\$0.59	\$3,020.80	\$1.00	\$5,120.00
	Total	3,120	51	Ψ0.57	\$666,537.80	•	\$660,845.00

Project

	BID NO: 003-2017 - 2017 ROAD IMPROV	Contro	5	5 6 tor Name Contractor Name			
	(SHEET 9 OF 9)						
				Black Rock	Enterprises, LLC	D.L.S. Co	ntracting, Inc.
				Stree	et Address	Stree	et Address
				1316 Eng	lishtown Road	271 Highway	46, Suite D-205
				City	State/Zip	City	State/Zip
				Old Brid	ge, NJ 08857	Fairfield	l, NJ 07004
					ge, NJ 08837		I, NJ 07004
Item #	Description	Quantity	Unit	Unit Price	Amount	Unit Price	Amount
	ALTERNATE NUMBER TWO -DOO	GWOOD TI					
1	Maintenance and Protection of Traffic	1	LS	\$6,000.00	\$6,000.00	\$2,500.00	\$2,500.00
2	Fuel Price Adjustment	1	ALLOW.	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
3	Asphalt Price Adjustment	1	ALLOW.	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
4	Clearing Site	1	LS	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00
5	Excavation, Unclassified	525	CY	\$0.01	\$5.25	\$50.00	\$26,250.00
6	Dense Graded Aggregate Base Course, Variable Thickness	270	CY	\$0.01	\$2.70	\$10.00	\$2,700.00
7	Milling, More than 3", Less than 6"	6,400	SY	\$7.00	\$44,800.00	\$6.00	\$38,400.00
8	Hot Mix Asphalt Surface Course Mix I-5	800	TNS	\$76.00	\$60,800.00	\$75.00	\$60,000.00
9	Hot Mix Asphalt Base Course Mix I-2	1,000	TNS	\$75.00	\$75,000.00	\$75.00	\$75,000.00
10	8" PVC Pipe, Schedule 40	2,000	LF	\$40.00	\$80,000.00	\$56.00	\$112,000.00
11	Roof Leader and Drain Connection to 8" PVC Pipe	40	UNIT	\$300.00	\$12,000.00	\$200.00	\$8,000.00
12	Bicycle Safe Grate	15	UNIT	\$320.00	\$4,800.00	\$40.00	\$600.00
13	Curb Piece, Type N-Eco	15	UNIT	\$365.00	\$5,475.00	\$300.00	\$4,500.00
14	Reconstructed Inlet, Type B, Using New Casting	8	UNIT	\$2,000.00	\$16,000.00	\$300.00	\$2,400.00
15	Hot Mix Asphalt Driveway, 2" Thick	840	SY	\$25.00	\$21,000.00	\$25.00	\$21,000.00
16	Driveway Restoration, Concrete Block	80	SY	\$115.00	\$9,200.00	\$80.00	\$6,400.00
17	Concrete Driveway, Reinforced, 6" Thick	25	SY	\$81.00	\$2,025.00	\$80.00	\$2,000.00
18	Granite Block Curb	3,800	LF	\$30.00	\$114,000.00	\$27.00	\$102,600.00
19	Traffic Stripes, Long Life, Thermoplastic, 4" Width	100	LF	\$1.00	\$100.00	\$1.40	\$140.00
20	Traffic Stripes, Long Life, Thermoplastic, 12" Width	40	LF	\$2.50	\$100.00	\$3.80	\$152.00
21	Traffic Markings, Thermoplastic	150	SF	\$6.00	\$900.00	\$6.00	\$900.00
22	Sign	2	UNIT	\$250.00	\$500.00	\$265.00	\$530.00
23	Topsoiling, 4" Thick	3,360	SY	\$4.00	\$13,440.00	\$3.00	\$10,080.00
24	Fertilizing and Seeding, Type "1"	3,360	SY	\$0.59	\$1,982.40	\$1.00	\$3,360.00
	Total				\$503,630.35		\$495,012.00
					ŕ		ŕ
	Total Base Bid Plus Alternate Number One				\$2,780,865.00		\$2,885,366.50
	Total Base Bid Plus Alternate Number Two				\$2,617,957.55		\$2,719,533.50
	Total Base Bid Plus Alternate Numbers One and Two				\$3,284,495.35		\$3,380,378.50

Note: Cells have been highlighted to indicate discrepancies between the bidder's reported total and the actual total.